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This Cuestion Paper consists of 30 questions and 11 printed pages.
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General Instructipns :
1.
2.

Candidate must write his/her Roll Number on the first page of the Quesfion Paper.
Please check|the Cluestion Paper to verify that the tofal'pages and total ngmber of questions

contained in the Cuestion Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have tochoose any one of the four alternatives given

in the question i.e. (A), (B), (C) or [D] and indicate your correct answer in the Answer-Book

given to you.

All the questions including objective fype questions are to be answered within the allotted

time and no separate time limit s fixed for answering objective type questions.

Making any identification markin the Answer-Book or writing Roll Number anywhere other

than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 49,-" ['“5,-|r 1-A on the Answer-Book

{a) The Question Paper is in English/Hindi medium only. Howewver, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
Y¥ou are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If vou choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/ mistakes in understanding the question will be yours only.
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SCIENCE AND TECHNOLOGY
( fagm g reifirat )

(212)
Time : 1-% Hours | [ Maximum Marks : 85
F9g ;24 v ] [ quis : 85
MNote : (1)  All gquestions are compulsory.

(2) Marks are indicated against each question.

FEw: (1) wdtowe s §
(2) wEE U ¥ ofw ToE o R o

1. An element ‘)’ reacts with oxygen to form oxide. This oxide dissolves in water to form 1
a solution wlich turns blue htmus red. This oxide also reacts wath MaOH| to form salt.
The element [ X 15 :
(A) Carbon (B) Sodium
(C) Calcium (D) Magnesium
TF 7 X A ¥ oo fEm wrF o i g ®) 9w sfwmer o F e
faera = & < e foemm = = = 2 B S afsane NaOH 5 o faa 50 s
Lo R A G

(A) =rEA (B) Hifzam
(C) %femm (D) &ritferas
2. Which of the following it not the characteristic of Xerophytes’ ? 1
(A) Succulent leaves and stems (B) Few or no leaves
(C) Large number of stomata (D) Deep wide spread root system
Frefafam & 4 =5 ‘weghm’ =1 afusem = #7
(A) Higa T3 wft (B) el = & = ot & o v it #
(C) THdenderimmmE (D) fosfmm g@-d3
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3.  The clouds formed in the sky are an example of - 1
(A) Emulsion (B) Suspension (C) Foam (D) Aerosol
A H 71 e e §
(A) wHE F (B) Fre=m = (C) =M= (D) s =

4. When the fingers of a person accidently touch a hot metal object, he withdraws fingers 1
instantaneously. This involuntary action of the person is controlled by :

(A) Cerebrum (B) Cerebellum
(C) Medulla oblongata (D) Spinal cord

7= fet =i =1 Snferal gimem uF ™ ag F1 35 =1 g W 76 9w =i it e
aryn wia om & =fm w9 ot e Preofafon § 9 feos oo P at 87

(A) A== (B) HAqHfE=R

=

(C) Hgen Hfi=iia (D) #E-T7

5.  What will hjppen if two electric bulbs of 25 W and 100 W both rated jat 220 V are 1
connected to the main 220 V supply in series ?

{(A) Electric bulb of 100 W will only glow
(B) Both electric bulbs will glow with @égual brightness
(C) Electric bulb of 100 W will glow brighter than electric bulb of 25 W

(D) Electric bulb of 25 W will glow brighter than electric bulb of 100 W

220 VF fom srma v AviiFR § g2 25 W sim 100 W F 9 fmp =i w1220 VE g e
& St o Em?

(&) F=m 100 W T e === vl @
(B) 2l fawga awa Tam =TwE | wHiva #
(C) 25 W ¥ fima s==1 =1 =7iem 100 W 1 Fim == safiss = & wemfoman &
(D) 100 W ¥ Toea =920 51 a7ian 25 W =1 fm === o1fus 9% & v @

49/HIS/1-212-A] F JIR O DR AR HN TN 1 contd...

» Ei k'E r.com www_FirstRanker.com

Firstranker's chaice



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
6.  Which of the following communicable diseases is caused by virus ? 1
(A) Amoebiasis (B) Dengue fever
(C) Malaria (D) Tuberculosis
Frefafr § 4 s o osms Mmamrmzmdm &7
(A) sitaTafEE (B FTg=m
(C) ==fem (D) e

7. In water purifiers, which of the following form of carbon is used for adsorbing coloured 1
impurities and foul odours from water ?

{A) Graphite (B) Coke
(C) Activated charcoal (D)} Carbon black

ot f[% F A g H a3 i freree st gi vy sttt ¥ fau frefatee § 8
FEA F1 94 [ =9 I § A a7

(A) Tz (B) Fr%
(C) ofefm|=rsm (o758 =1 sEe) (D) Fe60 =45

8.  Which of the following processes is not an. exefhermic reaction ? 1
(A) The process of digestion of food by’ human beings
(B) The rusting of iron nails
(C) The decompaosition of végetable matter into compost
(D) Burning of natural gas
freffam & 4 =5 =t whem senddt sifufsn wff &7
(A) = H o v o alE
(B) e F1 FreAl § = =

(C) Sredias w51 F1 9992 €6 T =E T

(D) wrsfrw fim = e
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9. Two spring balances A and B are being pulled apart as shown in the figure given 1

below :

A B
E-—"'I'ﬂ'l'ﬂ'ﬁ'ﬂ"'-——-.;..——"l'ﬂ'l'ﬂ'ff\-‘ s
— A M —

The reading in balance B is 4 N. The reading in balance A will be :

(A) zero (B) 2N (C) 4N (D) 8N
2 FAFEE T A T B ¥ UF 75 ¥ vl o s # S fe = o ome e A frmmn
T #
A B
q +~FTTT LTI 0
— iN —
FAHET 51 B T Tiagi® 4 N 1 SOrER T30 A 1 92ws 6m
(A) T [B) 2N ) IN D) 8N

10. A chemical factory discharges its waste that is rich in nitrates into a wateq body. How 2
does it affect| the population of fishes in the water bodies ? Explain.

UF TEEE TR gl R i st e g
wefedl S1 AEE T 0 UNE TP S Fie )

11. Why is it wrong to blame a mother only for giving birth to a female child ? Explain 2
with the help of chromosomal basis of séx determination.
F99 AR TAE S 50§ fou ol S 2w 3 i em £7 o Frafom ¥ o it amm
F1 TEEE B THEE |

12. State law of constant praportion. In magnesium oxide, magnesium and oxygen are 2
present in the ratio of 3:2 by mass. In a chemical reaction 6 g magnesium powder was
ignited in a container having 12 g of pure oxygen. After the completion of the chemical
reaction, it was found that 8 g of oxygen was left unreacted. Show that these
observations are in accordance with the law of constant proportions.

fer srqom =1 Fram gamd ditfon sfisome F deifiem o sisdsm ssammrgam
3:2 3R § i §1 Tl veaf sfifEm d o g eifmm sl o o, i 120 10
AAtgr ¥, w1 il wara 83 % uvEE 8 g At atagm e o i
f 4 Yo for s ¥ from & apem )
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13. On what factors does the buoyant force acting on a body immersed in a fluid depend ? 2
What will happen when the buoyant force acting on a body is equal to its own
weight ?

7 A | gaEn, e frs w e s am w fem e s w i s
e fFd e T R S m S s a S Fam?

14. Draw symbols of the following devices used in electric circuit diagram : 2
(i) Battery (i) A closed plug key
(iif) Electric fuse and (iv) An electric bulb
fearega wewe & g B9 A Fretfatam gfedl & frg e T -
@ &= (i) =% = R

(iii) fiv) foepe e

15. MName the pprt of human cell which contains network of chromosomes present as 2
chromatin. rite one function of this part.

oE FE F F9 9m F=1 T Fann faod e ¥ e J avfen sems = S
=¥ T w1 U w5 e

16. What is the cause of rainbow formation during the rainy season ? Which of the seven 2
colours seen in rainbow has

(i} maximum wavelength and (i) minimum wavelength ?
741 W § TREY 994 S w0 §7 THus ¥ ow i d fem i o ainded
(i) s g, 3 (i) TEmEmEr?

17. Differentiate between base 51 units and derived 51 units. Derive the Sl unit of weight. 4

o7 Sl BTEERI § S[e0= Sl OTEE] § S R0 W F S AEF S0 S
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Give reasons for the following : 4
(i) Treaded tyres are used in a car instead of flat tyres.
(i) When we shake a wet piece of cloth after washing, water droplets come out of it.

Frefafaa ¥ fag s sy -
(i) Wz wt it = F widen 2 9egm F wown #)
(il) o F ovam w9 T O wed w owess § 9 owd 2 o w9 ane et )

Draw the chemical structure of Butane and Isobutane. Justify that they are isomers. 4
= A AsEEgEa 9 TEEtE S wn = e 3 2 At weea #

List the raw materials required for the manufacture of bleaching powder. Describe the 4
method to manufacture it with the help of a labelled diagram. Write the chemical
equation for the reaction involved.

ﬂﬁnm#ﬁﬂmﬁzﬁmmaﬁmmmfﬁm}aﬁsﬁﬁml

fasra gt ofds & 2 wym A fofam wipfrs 3’ = oFn s &7 oget & fem
oo % Freeam gdw o= & Freemm oo & famer 42

{a) Can a bimetallic strip madeof silver and brass be used as thermostat in heating 4
and cooling devices ? Give reasons for your answer.

(Given a for brass and silver = 18 % 10~ ® per degree Celsius)

(b)  All other conditions remaining identical which will cause more severe burns steam
at 100°C or water'at 100°C ? Give reasons for your answer.

(a) T 3 ITm wT I ITE § T S o dEe w1 a fun w = e arees
e F fem o wwa #7 s I F foaw wem wmm)

mt: EIG mﬂm#Mquﬁ]En]D—ﬁﬁc—lh

(b) =3 Tt Tl TEE #1007 C F I 74 100°C F F9 8 Fe T w1 aAfaw i
org # R 7 a9 I F T wEe
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23. What is meant by ozone hole ? Explain the causes for its formation over Antarctic 4

regions. Why is the formation of ozone hole a cause of worry for human beings ? Give
two important reasons in support of your answer.

#irar foz 4 = sfvurg # 7 oS dm F o fog o0 & Sl =1 =aren sifs o
¥ f deim fer mam i Mo s i 7 s o wada § & weagd = 39w

24. Describe the unique property of water in respect of its thermal expansion as compared 4
to other liquids. Explain, why aguatic animals living in a lake of very cold region do
not die in severe winter despite of frozen surface of lake ?

a7 ZAf %1 e | urt § weitn von F e o o v sifan) seefes SR dm A
fom 0% @te 4 704 3 e e aeeE 2 ¥ 2 S oee = O wee w0 ot =5
m E7

ts X', Y and " have atomic number 17, 01 and 11. X" rgacts with Y 4

rately. What type of bond will be formed between "X and Y, and
Write the formulae of the compounds formed by the reaction between

" 'Z. Compare the electrical conductivities of these two comipounds and

25. Three €]
and “Z" sep

‘K and "F
K.Y and’
mention the

dt w0,y &7 S e HEn w e 17m s 0k N sem-am oy a9
daffFm s X Sy I N Sz s fEn e S aEy X #dncy
A= X &z o afufEn | = A el = o e oW 3 s St i
TS F1 e Firay g feem 5 -fan Fem T

26. MNow-a-days why are farmers being encouraged to use organic manure as a major 4
alternative to fertilirers. MName any three organic manures. Describe how can we use

waste vegetable peels, rotten vegetable, leaves and grass etc. to prepare organic
manure ?

seFnfEaRi s S M AT e R vE e F A T M A F
fem =41 wirearfien frm s & 7 Pl ot S wm & wm amn) 3o wifa i amodsm
ofexdi ¥ fomsl, oft-neht ofesd, ofesi oo am-w0 =1 9ogm Sfys o 5 F frg om
=17
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(a) Consider the following chemical reaction between iron and sulphur :

Fe (s} + 5(s) — " 1 FeS(g)

In terms of loss and gain of electrons, explain to which type of reaction is this.

(b) Why do the potato chips manufacturers usually flush in nitrogen gas bags of
fried potato chips * Explain.

(a) T o m s vE oew ¥ dw momfrE sl e wite

Fels) + 5(s) — " 1 Fe 5 (@)

7 fon von =1 Tt afifem 87 a7 3 =0 oifass =

(b) T Froim sifirsm ot g oy Forem 5 30 o redem o o wafiem w0 €7 =
EAIELS!

le diagram of human excretory system and label (i) kidneys (ii) ureters
v bladder and (iv) urethra on it. Write the funchions of kidneys. Why is it
possible to syrvive even with one kidney ? Name any one technique which can be used
to save a patt i

oY TET 99 T UF O3 a0W g 99 515 (i) IFF (i) I (i) gEeE s
(iv) 93 TP =1 TEiEa FIA0 1 §7% F FH G0 FEaa UF 99 5 OO0 StEa w0 b
v §7 UF T i faes 2 g ofana | oo g F foa feedt o ot | om

AR |

Explain three reasons of accidents that may be caused in our household circuits using
electricity. Describe therole of the following safety devices in preventing these accidents.
Explain.

(i}  Electrical fuse (ii) Earthing of electrical apphance

wie, Forga wfiedi A foe 5 wwdim ¥ i @ Al gelesl & A ol =t =men wifa
Fretfafm gran giel 5t @ gdemadl =t I F =0 ofem #7 = i)

(i) o = (ii) Ferge Sow w1 e
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30. (a) State the postulates of Bohr's model of atom. How could it solve the problem of 6
stability of atom faced by Rutherford model of atom ?

(b) The atomic number of sulphur is 16. Draw its structure according to Bohr model
of atom. What is the number of electrons in its M and N shells 7 Write valency of
sulphur atom.

(a) & F uram Hizw B Ao SAE ) R g Atee § e gmm F51 e
F1 T #1353 fFE vEn e e

(b) TEwL F WEM TEN 16 ¥ 97 Ofew F AN ToEt Oeam wited) = M AN
= | e S g feew-feed ¥7 oew s w5t wEesa g

~oo-
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